MRRERE (7 h—RILE,

&t FK R EKNh=1.0)

1= RFEARERI=vL
2. fs%=  PE-RP56-63-71CAJ |
3. WHRFETEIsE
(HBEE(BEEE) w=| 45 ke
@7 h—RILk
DRAH N=| 4 *®
QYA X Rtk M=| 10 iz
QAR S 7=Y DB EE (VR LLHEE) A= 78 Imnis 78x10°  |m?
ORBEEEEZBEDZIRYERTIHADTUH—HRILOBRERK Nt= 2 ES
@EMNELVEBELETOES Hg= 210 lmm= 021 |m
(DBE T 2HAD DAL R L= 814 lmm= 0814 m
(BT 2AHAMNDHTARIL LN SEBREDLETO IR Le= 374 mm(Lg<SL/2)= | 0374 |m
4. BREHE(REO/PMRUTHMHMEZEIEREALTEL)
(DFEAAERE Kh=| 10 |
(@R RRERE Kv=Kh/2= 05 \
(R)BHAKTEHES Fh=Kh-W-9.8= 4410 IN
(DB RREREN Fy=Kv-W-9.8= 2205 IN
BTFvh—HRILED5IRA oog FheHe+(W-98+Fv)-(L-Lg)
L-Nt = 2357 IN
B FUh—RILL DB AN Q=Fh/N=| 110.3 IN
(NToh—RILMZET BIENE
D3IEBHE 0=Rb/A= 30 IMPa< ft=176.4MPa
QEAMISHE T=Q /A= 14 IMPa< fs=132.3MPa
PBIREB AW ERBCZITHHE fte=14ft—167 = 244.7 IMPa
o= | 30 Mpa < fts=| 244.7 IMPa
(8)7 h—RILFDIET %
D7 UH—RILOEL % =[BAR LI T -
@avy)—roES = 150 lmm= 015 |m
QRILLDIEBARE = 110 lmm= 011 |m
@HFEIhmE Ta= 3528 | N > Rb=| 2357 |N

LEOBREEREIVTUA—RILNEI+ 24 2BEERT 5.
FREHAEFT/H-EIMIOVTORERFETHY . HROMEREZRIITILDOTRHYFE A,

814(L) 754
2
= o
s 8] 4
S [ . . .

374(Le) 440
X1
AQoooooooo ooo 11/7/8 | 00000 WYNBO-8975 | oo |

(2/4)



MRRERE (7 h—RILE,

&t FK TR EKh=2.0)

1= RFEARERI=vL |
2. fs%=  PE-RP56-63-71CAJ |
3. WHRFETEIsE
(HBEE(BEEE) w=| 45 ke
@7 h—RILk
DRAH N=| 4 &
QYA X Rtk M=| 10 iz
QAR S 7=Y DB EE (VR LLHEE) A= 78 Imnis 78x10°  |m?
ORBEEEEZBEDZIRYERTIHADTUH—HRILOBRERK Nt= 2 ES
@EMNELVEBELETOES Hg= 210 lmm= 021 |m
(DBE T 2HAD DAL R L= 814 lmm= 0814 m
(BT 2AHAMNDHTARIL LN SEBREDLETO IR Le= 374 mm(Lg<SL/2)= | 0374 |m
4. BREHE(REO/PMRUTHMHMEZEIEREALTEL)
(DFEAAERE Kh=| 20
(@R RRERE Kv=Kh/2= 10 \
(R)BHAKTEHES Fh=Kh-W-9.8= 882.0 IN
(DBERRERES Fv=Kv-W-9.8= 4410 N
BTFvh—HRILED5IRA oog FheHe+(W-98+Fv)-(L-Lg)
L-Nt = 352.1 IN
B FUh—RILL DB AN Q=Fh/N=| 2205 IN
(NToh—RILMZET BIENE
D3IEBHE 0=Rb/A= 45 IMPa< ft=176.4MPa
QEAMISHE T=Q /A= 28 IMPa< fs=132.3MPa
PBIREB AW ERBCZITHHE fte=14ft—167 = 242.4 IMPa
o= | 45 Mpa < fts=| 2424 IMPa
(8)7 h—RILFDIET %
D7 UH—RILOEL % =[BAR LI T -
@avy)—roES = 150 lmm= 015 |m
QRILLDIEBARE = 110 lmm= 011 |m
@HFEIhmE Ta= 3528 | N > Rb=| 3521 |N

LEOBREEREIVTUA—RILNEI+ 24 2BEERT 5.
FREHAEFT/H-EIMIOVTORERFETHY . HROMEREZRIITILDOTRHYFE A,

814(L) 754
2
= o
s 8] 4
S [ . . .

374(Le) 440
X1
AQoooooooo ooo 11/7/8 | 00000 WYNBO-8976 | oo |

(2/4)





